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HERITE

LA LRJL2 LARJL3 LAR)L4 LARJLS feri o LK== RS
THRS IH w31 3 s SHEIRE S I _ _ mE
AEHE (s [HEHE [ EHE
ERHBEIE =% 1 1
T
FELT = 1 1
HEH =® 1 1
T8 m3 430.20 430.0
CB210100 JNyHRHILFE0.80m3, TEITAL. BEWAL| m3 430.20 430.0
Py It
it m3 1.00 0.0
CB210610 FEZ AN TOEM m3 1.00 0.0
T EbE m3 430.20 430.0
CB210110 BTy B OtTER - ML T) m3 430.20 430.0
SHEIRBET = 1 1
SHEREBET = 1 1
e V) -MT AT NN ) ERERR . t=25cmBLTF m 331.80 332.0
CB430510 REEhR V)BT m 331.80 332.0
SHEERRIERI 109 —MT RT7IVE
e TRI7IVMERERR , t=15cmLL T m 2.30 2.0
CB430510 REEhR V)BT m 2.30 2.0
SEMRTERI: 7AT7 b
I IREER V9T A77 N D EREERR . t=20cm m2 | 143400 1430.0
CB430310 m2 | 1434.00| 14300
SHEERRTERI : 10— MT RT7IVE
eI s t=Tcm m2 376.00 376.0
CB430310 5 R B R m2 376.00 376.0
SEMRTERI: 7AT7 b
Asz%E L=3.5km m3 101.90 102.0
CB227010 B E m3 101.90 102.0
sy t 239.40 239.0
Cos¥ &k L=10.9km m3 286.80 287.0
CB227010 LB m3 286.80 287.0
sy t 674.00 674.0
BET = 1 1
MET = 1 1
=[E OBEFHEAS(13F) t= 3cm m2 | 1810.00] 1810.0
CB410260 RE(EE B m2 | 181000| 1810.0
EHEE:30mm
FHIEE :3.0mLlE
#H: OB EBREASI3F)
BEEMFTESE:PK-4
=E QB LEBHEAS(13) t= 4cm m2 | 181000| 1810.0
CB410260 RE(EE- KRR m2 | 181000| 1810.0
EHEE: 40mm
FHIEE :3.0mLlE
M QB ETHIEAS(13)
BEEMFTESE:PK-3
L EER A RIE R ERAM-40) t=12cm m2 | 1434.00| 1430.0
CB410040 L Bk AR (HiE - RIS AB) m2 | 1434.00| 1430.0
LRI SR R R (M-40)
EHEE:120mm
T B BAEBARC-40)  t=12cm m2 | 1434.00| 1430.0
CB410030 TERE (EE- RS m2 | 1434.00| 1430.0

FEHEE:120mm

M- BERARC-40)




HERTE

LA LARJL2 LAJL3 LAR)L4 LARJLS o LHE EEH=E
8+E52:F68 BAfL
X ] Eobl I _
e it L k] HEREIEE [ FERE N EE
E L= BRAE AR t=24cm m2 | 143400 14300
CB410030 T B (HE- R ER) m2 | 143400 14300
SEHEE:240mm
¥ BER

RE#RT =% 1 1
RE#RT = 1 1
AR RELR DRAEEHRE 2, ES K RERDE E] m 590.60 591.0
E#15cm FHE10mm F HEAXRE | m 590.60 591.0

WB821210 REREE
ZLER DRAEEHRE 2, ES K RERDE E] m 16.60 17.0
E#530cm EHE10mm F HARRE | m 16.60 17.0

WB821210 REREE
b8 DRAEEHRE 2, ES K RERDE E] m 70.00 70.0
Ef545cm BHE10mm F HARRE | m 70.00 70.0

WB821210 REREE
FEI—Y DRAEEHRE 2, ES K MESERDOE E] m 65.20 65.0
ER30cm FHE1.onm E AR m 65.20 65.0

WB821210 REREE
R =% 1 1
REEHE = 1 1
RBFES A 56.00 56.0
RBHEZ(HFEEB A 56.00 56.0




IT £ 5 =
I | A I B 8
T 2 1.0
#EHI m 430. 2
BE  |BE2ANBTOEH 430. 2
E il 430. 2




(]

Al &t g ® - B K #

T

RE| SEIFTEEICLY
V = 1434.00 x 0.30

430. 2 430. 00 m3

VZ 1

430. 2 430. 00 m3




 GHAERRMNE T &£

i %

&l W Rl ]HOO® By 2
SHERBEL = 1.0
aVHY-pT727700 b
LRI |t=25cmBA T m 331.8
TAI7 b

SHEERRUIMT  |t=15emA T m 2.3
aVHY-pT27700 b

SHEERRRERRE  |t=20cmLLTF m? 1434.0
TAI7 b

SHEERRERRS  |t=5cm m? 376.0

AsEREHE - L5 |SE m® 101.9
a4y t 239.4

CoRRE M - s> EM m® 286. 8
a4y t 674.0




SRR T

E A i &8 K - B X #H =
MERBET
£ %5 iR U R t=15cm#& Z30cmLL T
L = 575 + 320.00 + 6.00 = 331.8 332.00 m
t=15cmLLF
L = 065 + 05 + 065 + 0.50 = 2.3 2.00m
SHEE AR AR t=25cm
(Co+As (A" -)) = 1434.00 1434. 00 m?
AL R AR t=Tcm
(As) A = 1810.0 — 1434.00 = 376.00 376. 00 m
BOEME - W H
B Vo= (1810.0— 1434.00 + 320.00 x 0.30 x2 ) x 0.07 = 39. 76 40.00 m°
1434.00 - 320.00 x 0.30 x 2 ) x 0.05 = 62.10 62.00 m’
T = 101.86 102. 00 m°
msyl W o= 101.86 x  2.35 mi/t = 239.37 239.00 t
CoffimiE t=20cm
(15=t<35cm) SET(ZLY = 1434.00 1430. 00 m?
BOEME - W H
B Vo= 1434.00 x  0.20 = 286.80 287.00 m®
msyl W o= 286.80 x 2.35 mi/t = 673.98 674.00 t




SET £ 3
B Al o Al BHoO® BT =
HET = 1.0
GOBEEMEAs (13F)
RET t= 3cm m 1810.0
QBEZHEAs (13)
REL t= 4cm m 1810.0
FIEAREE (M-40)
LTERET t=12cm m 1434.0
B&ERA (RC-40)
TRERET t=12cm 1434.0
BRAR AR
FEEMFEEBLT | t=24cm 1434.0




& Al Hi =1 = & # =
ShET
REI| OBXFHEAs(13F) t= 3cm
BEtEEICLY 1810.0 1810. 00 m?
REI| QBAFHEAs(13) t= 4dcm
BEtEEICLY 1810.0 1810. 00 m?
EERAET| HIARAE M-40) t=12cm
BEtEEICLY 1434.0 1430. 00 m?
TEBR®RI| BEMRA (RC-40) t=12cm
BEtEEICLY 1434.0 1430. 00 m?
FEEMMBEBET| HREERAA t=24cm
BEtEEICLY 1434.0 1430. 00 m?




= Vvl
2 5 B A5
Wk e L ' o R \, 1
BOEE W m THWE | MW w OTHWE | 6

No, 13 6. 90 5.75
No, 14 20. 000 7.15 7.02 140. 40 20. 000 6. 00 5. 87 117. 40
No, 15 20. 000 7. 05 7.10 142. 00 20. 000 5.90 5. 95 119. 00
No, 16 20. 000 7. 05 7. 05 141. 00 20. 000 5.90 5.90 118. 00
No, 17 20. 000 7. 05 7. 05 141. 00 20. 000 5.90 5.90 118. 00
No, 18 20. 000 6. 80 6. 92 138. 40 20. 000 5. 80 5. 85 117. 00
No, 19 20. 000 6. 20 6. 50 130. 00 20. 000 4. 25 5.02 100. 40
No, 20 20. 000 4.65 5.42 108. 40 20. 000 3. 45 3. 85 77.00
No, 21 20. 000 4. 30 4. 47 89. 40 20. 000 3. 10 3.27 65. 40
No, 22 20. 000 4.35 4. 32 86. 40 20. 000 3.15 3.12 62. 40
No, 23 20. 000 4.75 4. 55 91. 00 20. 000 4. 00 3.57 71.40
No, 24 20. 000 4.35 4. 55 91. 00 20. 000 3. 20 3. 60 72.00
No, 25 20. 000 4.15 4. 25 85. 00 20. 000 3. 00 3.10 62. 00
No, 26 20. 000 4.65 4. 40 88. 00 20. 000 3. 50 3.25 65. 00
No, 27 20. 000 4.95 4. 80 96. 00 20. 000 3. 80 3. 65 73.00

2 7 280. 00 1, 568. 00 280. 00 1, 238. 00

o 7 280. 00 1, 568. 00 280. 00 1, 238. 00




= =S (=) =B
e B . 4
il o EEET R "
) i B [ S]] & & I B by [T S] ) (2 T8
No, 27 4.95 3. 80
No, 28 20. 000 6. 05 5. 50 110. 00 20. 000 4. 90 4.35 87.00
No, 29 20. 000 7.15 6. 60 132. 00 20. 000 6. 00 5. 45 109. 00
/N B
40. 00 242. 00 40. 00 196. 00
2 4
320. 00 1, 810. 00 320. 00 1,434. 00




XERT &

%

Bl | RO® B 2
XE#RT = 1.0
CAN kG E#15cm  t=1. 5cm m 590. 6
F1L4R E#R30cm  t=1. Ocm m 16.6
HE  [E#R45em  t=1. Ocm m 70.0
FEY—Y  |E#30cm  t=1.0cm m 65. 2




L] Al B =1 = & # =
XE#HRL
AR
Vs = X T NO. 0+2.0~NO. 13
ek, W=15cm, t=1.56mm| 21.54 + 51.40 + 1.52 + 192.83 + 22.33
+ 25.74 + 27.81 + 19.34 + 208.17 + 3.05
+ 16.91 = 590. 64 591.00
(A% AR X &0
Vs = X T 2.80 + 2.70 + 2,30 + 3.30 + 2.70
E#R, W=30cm, t=1.0mm| + 2. 80 = 16.60 17.00
Rl A8 AR X &0
Ve i = X TR 3. 50 7 + 3.50 X 7 + 3.50 X 6 = 70.00 70.00
SR, W=45cm, t=1. Omm
Fv—s | ERERTER LY
= DX E R 16.31 X 4 = 65.24 65. 00

FEHR, W=30cm, t=1. Omm




£ iR - IR = Ef | S WEJEE: TR RIEBELH
AT ENGRI EE R %x1.81
N 27.58 48|N=28.0 X 2=56 A
E¥E+T IEY
gzl 430|m3 230 1.87 3
B RE T IEN
AL R ki 332|m 150 2.21 4
Sl R A 20 )= b7 A7 70 b 1430 |m2 230 6.22 1
AR E - BOA Y)Y =T AT 7V 1430 |m2 150 9.53 17
AL A TAT 7 376|m2 510 0.74 1
T IEN
SRR T GOF/EBRIEAs (13F) t= 3cm 1810 |m2 2300 0. 79 1
AE T Q@ AEBRIFEAs (13)  t= 4cm 1810 |m2 2300 0.79 1
ERAET BT SR (M=40)  t=12cm 1430 [m2 940 1.52 3
TERET AR (RC-40) t=12cm 1430 [m2 940 1.52 3
B EHE T & R t=24cm 1430 |m2 940 1.52 3
X H T IEN
X AR T MR 591 |m 1000 0.59 1
X H R 51k 17|m 550 0.03 0
X iR L R AR 70 |m 550 0.13 0
X H R TE~w—7 65|m 550 0.12 0




